8- Hypothesis Testing
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1. 'The proportion of primary school teachers who have passed A Level
Maths is 23%. The government launches a campaign to encourage
people with A Level Maths to consider teaching in primary schools.
A random sample of 40 applications for training is taken to see if the
proportion of people with A Level Maths has increased. Give the null

and alternative hypotheses you would use in the test.
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y 2. 13 out of the 40 applications in the test in question 1 were from people with

A Level Maths, and the null hypothesis was not rejected at the 5% level
of significance

tate the conclusion in context.
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